GE 1o & 45 B (HH L) B 25 %+

BE3>&x+F»EERR (6 H30H)
(FRTAEFT X, B3R X)
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(BU#E 3) 8 WCS SRRE [DEITIDH] DEAFADHKSRI (FHITE)

RY
& I
ﬁ\
c 3
4

EH}

FEZEDUTER TR g E e v & —

TR DG WCS S il o IIERF I, 3Lk D $ 72 5 2 i O fg WCS

A~ Dia G 2T LA E IR TEIR S IS RIS R R A L 72,

3 4 Flh R o 2 FELL Eo R (BILTT N ORSER O &S
(1) 3B 1: s WCS (A) . (B) #355857:8~15 98 (LL#kd % & H °&H))
XoOhnig AR 8 170 H (104~281H) ¢35 k5

R ARG WCS B LS % 42 |0 f WCS (A) .

flal A % 32 4R

(2) #E&2: fif WCS (B) #5545 o8
XoOhnte AR 88 220 H (166~304 H) ¢35 k5

il {4 % 3841

KB R OFEREE 13 (R 1)

(B) otz

" L, A= 777 BAEf
K43 R TR meimioui | £ c ol
= HTE HIf
fi s tﬂ(y%ﬁ” 1H L #190 H
374 i 7Y N

AR & fa 55
(1) HEWCS (A) :(76 HM.R1.11/5~R2.1/19). 4247 0.8kg (314 2.0kg)

(2) FBWCS (B) : (32 HRE.R2.1/20~2/20) .%z#¥) 0.6kg (Bi#) 2.0kg)

#6577 TMR IC & % 11 5 HifE R 11.8DMkg /H (Iva’ —#41-v :7.7DMkg/H+4 £ Y
TV IA7TAY 4L —2:142DMkg/H) @5 B,

(1) W LA XYV T VT4 T A% 4 L—V kY ER TR WCS (A)

0.8DMkg /H <& (fit WCS © DM H &

0T 3 by - M o fif WCS B o IR S OGRS Y5 303 WCS o ivE I I3

(HHITHL) |
*OREYITR 1.1

D F@Eﬁﬂ%’ij [EHAINGE - = ] WCS
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& R 6.8%,

=SP4
o

42 fiA]

p2ElY

i



ke 2.9%)
(2) Bk 2:fF WCS (A) 0.8DMkg/H % WCS (B) 0.6DMkg/H TfX

B

(it WCS © DM &8 - HfERld 5.1%., 2k 2.2%)
FAEIEH: (1) 3B& L.AF WCS (A) . (B) #a5Rif% o b7, FLK 512
(B AR
(2) ABR 2:41 WCS (B) #4511 D Hl Mg k=13 (zvn 78
77" v, BUN, LK, ¥8ava7m-v, NEFA)

R14E 10 H 11 H 12 H R24E1H 2 H 3H
(G GIED
(1) 3Bk 1 1R ks ®r
(2) % 2 R BRIt "
(6 5-&] ‘\ v
va —#-y
7.7kg/H
a5
MR R
(DMkg) “‘{;ﬁj 7 11/5—HH WCS (A) 1/20Hf WCS (B)
4.2kg/H fe45-Fsa f&5-biga
’ 0.8kg/H 0.6kg/ H
ClAED!
(1) 7B 1
A8 AnamEn A A A A A
10/19 11/21 12/20 1/20 2/19
(2) 2
4k E H A A
1/17 2/18

(K1) fig WCS (A) . (B) o5 & #lx 1.2 oFAH

e
(1) FBEWCS (A) #H5Ex
it WCS (A) ofg5ic X v, LR IIINERICH - 7225, FiF WCS (A) H o
CP 2MED o 72728, HZ VN7 EMET L2k ndH o7 (£ 2) .

*12 R1 4E 10~R2 £ 2 A0 H 20 HEO 4-FE € il

15 AL (6:00~8:00) 2, 9:30 iR, MLFH/HEEL CT-80°C T L. s0ATikBY (Mt EE N4

LR e FRIIR)) <ot
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(2) FEWCS (B) #5538
fit WCS (B) o#5ic kv, AR MEBICH 72 (R 2) 25, MR
DWW TIE, KEARZLIE R -7 (R 3),

(1) A2V T7vI34 27724 L= LREWCS (A) (B) sy () OFsRESE

; j ;; ; FBWCS FEWCS
AL (A) (B)
K> 41.3% 60.6% 71.5%
CP 11.7% 6.3% 5.6%
CF 29.7%
NDF 59.7% 68.4% 54.9%
— AR 2> ADF 34.9% 35.0% 32.1%
ADL 3.1% 1.4%
T 16.6% 6.7%
NFC 12.5% 29.0%
EE 3.8% 1.7% 2.2%
THRILF— TDN 61.4% 52.5% 64.4%
- 0CC 22.9% 34.1%
OCw 63.2% 56.4%
pH 5.2 3.9
7EZTEEN 0.03% 0.02%
TYEZTHEN/EN 3.10% 2.40%
HERE 37 0.00% 0.00%
FLER 1.66% 4.32%
FEER 0.37% 0.43%
A=l g 0.00% 0.00%
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(£2) fEWCS (A) (B) ool - Ik ic G 2 2 %

R1.10 R1.11 R1.12 R2.1 R2.2 p=
TBWCS(A) 65 B 17HEB 46HH 77THE —
TBWCS(B)#4 5 B # — — — 3188
n= 8 10 12 9 15
D% B (") 172+52 170+ 56 173+ 67 168+ 32 170£41 1.00
A2 (kg) 36.0+4.8 35.7+6.6 37.9+10.0 40.2+5.4 36.56+4.7 0.64
ABERS (%) 4.08+0.82 4.03%£0.86 426*+1.00 4.11+0.35 3.95+0.54 0.90
HAxv/08 (%) 3.78+£0.28 3.53+£0.47 3.64£0.48 3.53%£0.26 3.65+0.27 0.65
SNF (%) 9.04£0.22 9.19+£0.46 8.88%0.45 9.06£0.24 9.00£0.29 0.36
4%FCM (kg) 36.1+3.9 35.2+3.3 38.7£9.8 40.8*5.8 36.3£5.6 0.34
(£3) fEWCS (B) oGtk G 2 % %
fEWCS(B)  FEWCS(B) B
o5 5% -
WCS(A) ¥ 5 B 748 B —
WCS(B)#a5 H# — 308 H
n= 5 5
Dk B (H) 216+ 55 220+28 0.88
ayn 1&g (g/dL)  7.57+0.42 7.87%=0.73 0.46
TV 3 (g/dL)  9.27+0.35 9.12+0.22 0.46
BUN (mg/dL) 13.7+14  14.4+0.9 0.38
itk (mg/dL) 64+ 4 63+3 0.86
TC (mg/dL)  208+36 207 +28 0.96
NEFA (uEq/L) 66+9 75+13 0.24
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